BIOLOGY

BOOKS - SRIJAN BIOLOGY (ENGLISH)

SELF ASSESSMENT PAPER 9

1. Differentiate between parthenogenesis and

parthenocarpy.

[ o Watch Video Solution


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_uVPjKbtzzaVF

2. What is morula ?

o Watch Video Solution

3. Suggest any two contraceptive methods
which are very effective to avoid emergency

pregnancy.

o Watch Video Solution



https://dl.doubtnut.com/l/_uVPjKbtzzaVF
https://dl.doubtnut.com/l/_FS4R7tgq9gP6
https://dl.doubtnut.com/l/_rFXhwizIIVzJ

4. What is gene therapy? Name the first

clinical case where it was used.

° Watch Video Solution

5. What are the steps involved in PCR ?

° Watch Video Solution

6. What is biotechnology ?

° Watch Video Solution



https://dl.doubtnut.com/l/_ahqIazUlhtkS
https://dl.doubtnut.com/l/_4AIXpFqvaHKv
https://dl.doubtnut.com/l/_m1JCXbskDCiN

7. Name any two viruses with RNA as genetic

material ?

o Watch Video Solution

8. List an example for commensalism.

o Watch Video Solution

9. A human female with Turner's syndrome


https://dl.doubtnut.com/l/_m1JCXbskDCiN
https://dl.doubtnut.com/l/_ZeQVF0SRwrVM
https://dl.doubtnut.com/l/_1JNhTnYdMy0c
https://dl.doubtnut.com/l/_stRSsTTVRbHo

A. 44 + XXY

B. 44 + XYY

C.44 + XO

D. 44 + XXYY

Answer:

° Watch Video Solution

10. Cry genes of Bt genes are obtained from:

A. Cotton pest


https://dl.doubtnut.com/l/_stRSsTTVRbHo
https://dl.doubtnut.com/l/_j0SznShNof0N

B. Tobacco plant

C. Bacillus thuringiensis

D. None of these

Answer:

o Watch Video Solution

11. Where does the ovum receive the sperm ?

A. Animal pole

B. Vegetal pole


https://dl.doubtnut.com/l/_j0SznShNof0N
https://dl.doubtnut.com/l/_O7skc0gOJtcq

C. Zona pellucida

D. None of these

Answer:

° Watch Video Solution

12. Test tube baby implies which of the

following techniques ?

A. Ul

B. ICSI


https://dl.doubtnut.com/l/_O7skc0gOJtcq
https://dl.doubtnut.com/l/_DmHgF8kz6kkJ

C. GIFT

D.ZIFT

Answer:

° Watch Video Solution

13. Give one significant contribution of each of
the following scientists :
(i) Chargaff

(ii) Francis Crick


https://dl.doubtnut.com/l/_DmHgF8kz6kkJ
https://dl.doubtnut.com/l/_Auuur8xP8el1

(iii) Baltimore

(iv) Watson and Crick

° Watch Video Solution

14. Define the following :
(i) Oligospermia

(ii) Translation

° Watch Video Solution



https://dl.doubtnut.com/l/_Auuur8xP8el1
https://dl.doubtnut.com/l/_9ASxtclcVu09

15. Give reasons :

(1) Personal and public hygiene are important
aspects for mainaining health.

(i) The use of cannabinoids prohibited in

games and sports.

o Watch Video Solution

16. Differentiate between parthenogenesis and

parthenocarpy.

° Watch Video Solution



https://dl.doubtnut.com/l/_vIxIogzUNULl
https://dl.doubtnut.com/l/_QQoTV4t1T1dC

17. What is morula ?

o Watch Video Solution

18. Suggest any two contraceptive methods
which are very effective to avoid emergency

pregnancy.

o Watch Video Solution



https://dl.doubtnut.com/l/_QQoTV4t1T1dC
https://dl.doubtnut.com/l/_EiKfjIKatqSU
https://dl.doubtnut.com/l/_JSUi28yetr3J

19. What is gene therapy? Name the first

clinical case where it was used.

o Watch Video Solution

20. What are the steps involved in PCR ?

o Watch Video Solution

21. What is biotechnology ?

o Watch Video Solution



https://dl.doubtnut.com/l/_7jVUXexRpcuu
https://dl.doubtnut.com/l/_FmgW2BCNAWuU
https://dl.doubtnut.com/l/_8KPXbuSzUO8q

22. Name any two viruses with RNA as genetic

material ?

o Watch Video Solution

23. List an example for commensalism.

o Watch Video Solution



https://dl.doubtnut.com/l/_8KPXbuSzUO8q
https://dl.doubtnut.com/l/_QkDCHuU56tAj
https://dl.doubtnut.com/l/_8A8P1VNpINpG

24. The genotype of a person with Turner's

syndrome will be :

A. 44 + XXY

B.44 + XYY

C.44 + XO

D. 44 + XXYY

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_4OEqu8IGOLIY
https://dl.doubtnut.com/l/_07Z9PDJKsP8X

25. Cry genes of Bt genes are obtained from:

A. Cotton pest

B. Tobacco plant

C. Bacillus thuringiensis

D. None of these

Answer:

o Watch Video Solution

26. Where does the ovum receive the sperm ?


https://dl.doubtnut.com/l/_07Z9PDJKsP8X
https://dl.doubtnut.com/l/_QihfiujLIa6u

A. Animal pole

B. Vegetal pole

C. Zona pellucida

D. None of these

Answer:

o Watch Video Solution

27. Test tube baby implies which of the

following techniques ?


https://dl.doubtnut.com/l/_QihfiujLIa6u
https://dl.doubtnut.com/l/_PKLpEhvq1dcT

A. Ul

B. ICSI

C. GIFT

D.ZIFT

Answer:

° Watch Video Solution

28. Give one significant contribution of each of
the following scientists :

(i) Chargaff


https://dl.doubtnut.com/l/_PKLpEhvq1dcT
https://dl.doubtnut.com/l/_AdPEel4bVF9c

(ii) Francis Crick
(iii) Baltimore

(iv) Watson and Crick

o Watch Video Solution

29. Define the following :
(i) Oligospermia

(ii) Translation

o Watch Video Solution



https://dl.doubtnut.com/l/_AdPEel4bVF9c
https://dl.doubtnut.com/l/_2jiOSaQC21pN

30. Give reasons :

(1) Personal and public hygiene are important
aspects for mainaining health.

(i) The use of cannabinoids prohibited in

games and sports.

o Watch Video Solution

1. Write a short note on double fertilization.

| e |


https://dl.doubtnut.com/l/_BVIr6GHjFkfQ
https://dl.doubtnut.com/l/_F3JXOCFrL7y4

& Wwatch Video Solution ]

2. Is pollination and fertilization necessary in

apomixis ? Give reason.

o Watch Video Solution

3. Explain the process of sex determination in

humans.

° Watch Video Solution



https://dl.doubtnut.com/l/_F3JXOCFrL7y4
https://dl.doubtnut.com/l/_nv3Ztb7VSdWA
https://dl.doubtnut.com/l/_fR88OT5QAfxi
https://dl.doubtnut.com/l/_Wf3uwLRJ1rr1

4. Define immunity. Describe different ways to
develop immunity. Write two differences

between active and passive immunity.

° Watch Video Solution

5. Mention four features of pBR322.

° Watch Video Solution

6. What are the factors that determine a

species as threatened ?


https://dl.doubtnut.com/l/_Wf3uwLRJ1rr1
https://dl.doubtnut.com/l/_Q8ziuRcPz3D1
https://dl.doubtnut.com/l/_Ot46D7EWUdnR

° Watch Video Solution

7. What are critically endangered species ?
How  cryopreservation helps in the

conservation of biodiversity ?

° Watch Video Solution

8. What is cancer ? How it is different from a

normal cell ?

o Watch Video Solution



https://dl.doubtnut.com/l/_Ot46D7EWUdnR
https://dl.doubtnut.com/l/_2yQ6sy57CMbH
https://dl.doubtnut.com/l/_sUXk4DOLqdRl

9. What do you understant by gene cloning ?

o Watch Video Solution

10. Write a short note on double fertilization.

o Watch Video Solution

1. Is pollination and fertilization necessary in

apomixis ? Give reason.

| e |


https://dl.doubtnut.com/l/_sUXk4DOLqdRl
https://dl.doubtnut.com/l/_uDaHIsiPFj4x
https://dl.doubtnut.com/l/_6GmQuRYW5ZYu
https://dl.doubtnut.com/l/_TL0BHxWqqdeX

& Wwatch Video Solution ]

12. Explain the process of sex determination in

humans.

o Watch Video Solution

13. Differentiate between active and passive

immunity.

° Watch Video Solution



https://dl.doubtnut.com/l/_TL0BHxWqqdeX
https://dl.doubtnut.com/l/_9KYrPslWUiIj
https://dl.doubtnut.com/l/_JI4L2YvXAqI8
https://dl.doubtnut.com/l/_VtfPJQ9d6ejk

14. Mention four features of pBR322.

° Watch Video Solution

15. What are the factors that determine a

species as threatened ?

o Watch Video Solution

16. What are critically endangered species ?
How  cryopreservation helps in the

conservation of biodiversity ?


https://dl.doubtnut.com/l/_VtfPJQ9d6ejk
https://dl.doubtnut.com/l/_zC18tVeVIutn
https://dl.doubtnut.com/l/_1ZPm8YVEeRqj

° Watch Video Solution

17. What is cancer ? How it is different from a

normal cell ?

o Watch Video Solution

18. What do you understant by gene cloning ?

o Watch Video Solution



https://dl.doubtnut.com/l/_1ZPm8YVEeRqj
https://dl.doubtnut.com/l/_6GlT6zh7W64a
https://dl.doubtnut.com/l/_PaC9KmhhMsoH

1. How can the gene expression be controlled

with the help of RNA

o Watch Video Solution

2. How are dominance, codominance and
incomplete dominance patterns of inheritance

different from each other ?

o Watch Video Solution



https://dl.doubtnut.com/l/_m35BOiUUOSWC
https://dl.doubtnut.com/l/_gRkQNTY65SsN

3. a) DNA segment has a total of 1000 n
nucleotide , out of which 240 of them are
adenine containing nucleotide .How many
pyrimidine  bases this DNA segment
possesses?

(b ) Draw a diagrammatic sketch of a portion

of DNA segment to support your answer .

o Watch Video Solution



https://dl.doubtnut.com/l/_UnbYNPhIplHu

4. Write a note on the prevention and control

of infectious diseases.

° Watch Video Solution

5. Giving two reasons explain why there is
more species biodiversity in tropical latitudes

than in temperate ones.

° Watch Video Solution



https://dl.doubtnut.com/l/_dRiTEhTQPrgJ
https://dl.doubtnut.com/l/_kxj6OpmWA5Yv

6. Why is secondary waste water treatment

refferred to as biological approach ?

o Watch Video Solution

7. What does the term 'memory' of the

immune system mean?

o Watch Video Solution



https://dl.doubtnut.com/l/_3AV1qUyg8bit
https://dl.doubtnut.com/l/_sm0hJnv4bkkw

8. Draw a well labelled sketch of a human

ovum prior to fertilization.

° Watch Video Solution

9. With the help of labelled diagrams, depict
the stages of a microspore maturing into a

pollen grain.

° Watch Video Solution



https://dl.doubtnut.com/l/_0mwvcjADET2g
https://dl.doubtnut.com/l/_sLFxbfe7Nhw9

10. How can the gene expression be controlled

with the help of RNA

° Watch Video Solution

1. How are dominance, codominance and
incomplete dominance patterns of inheritance

different from euch other?

° Watch Video Solution



https://dl.doubtnut.com/l/_0mpfvb1Xpivn
https://dl.doubtnut.com/l/_QPzmqEv4JAq8

12. a) DNA segment has a total of 1000 n
nucleotide , out of which 240 of them are
adenine containing nucleotide .How many
pyrimidine  bases this DNA segment
possesses?

(b ) Draw a diagrammatic sketch of a portion

of DNA segment to support your answer .

o Watch Video Solution



https://dl.doubtnut.com/l/_qdkIvmO94VeN

13. Write a note on the prevention and control

of infectious diseases.

° Watch Video Solution

14. Giving two reasons explain why there is
more species biodiversity in tropical latitudes

than in temperate ones.

° Watch Video Solution



https://dl.doubtnut.com/l/_oTZpHnAizdJW
https://dl.doubtnut.com/l/_oXiEczTwBEoH

15. Why is secondary waste water treatment

refferred to as biological approach ?

o Watch Video Solution

16. What does the term 'memory' of the

immune system mean?

o Watch Video Solution



https://dl.doubtnut.com/l/_FEKdkcOAjPsS
https://dl.doubtnut.com/l/_8u8C5NlQ0o6n

17. Draw a well labelled sketch of a human

ovum prior to fertilization.

o Watch Video Solution

18. With the help of labelled diagrams, depict
the stages of a microspore maturing into a

pollen grain.

o Watch Video Solution



https://dl.doubtnut.com/l/_SQ0ubnpgjBXJ
https://dl.doubtnut.com/l/_KVSNAMkQoMMO

1. (i) What are transgenic bacteria ? Give an
example.
() What is a transgenic crop ? Write name of

the first transgenic crop in India.

° Watch Video Solution

2. Explain the steps involved in downstream

processing in biotechnology.

o Watch Video Solution



https://dl.doubtnut.com/l/_nAIcO31vIyOz
https://dl.doubtnut.com/l/_V0Ae7Cezvi8a

3. A village health worker was taking a session
with women. She tells the women that has to
be very careful while using oral pills as method
of birth control. Wrong usage can actually
promote conception.

(1) Analyze the statement and compare merits
and demerits of using oral pills and surgical
methods of birth control.

(i) Village women were confused as to how a
thin metallic Copper loop can provide
protection against pregnancy. Justify the use

explaining the mode of action of 1UDs.


https://dl.doubtnut.com/l/_LZyCjSGqCKaz

° Watch Video Solution

4. (i) Suggest any four measures to prevent
sexually transmitted diseases.

(i) The procedure of GIFT involes the transfer
of female gamete to the fallopian tube. Can
gametes be transferrecd the the uterus to

achieve the same result ? Explain.

o Watch Video Solution



https://dl.doubtnut.com/l/_LZyCjSGqCKaz
https://dl.doubtnut.com/l/_SljRDtjFqnOx

5. Explain the pattern of inheritance of
haemophilia in humans. Why is the possibility
of a human female becoming a haemophilic is

extremely rare ? Explain.

o Watch Video Solution

6. (i) Why RNA is not a suitable genetic
material in comparison with DNA ? Explain.

(i)  Monocistronic  structural genes in


https://dl.doubtnut.com/l/_rIoy78Bcw6fO
https://dl.doubtnut.com/l/_c5WuWXaPPOLF

eukaryotes have interrupted coding sequence.

Explain. How are they different in prokaryotes.

° Watch Video Solution

7. (i) What are transgenic bacteria ? Give an
example.
(i) What is a transgenic crop ? Write name of

the first transgenic crop in India.

o Watch Video Solution



https://dl.doubtnut.com/l/_c5WuWXaPPOLF
https://dl.doubtnut.com/l/_3KW7IE2A3YGs

8. Explain the steps involved in downstream

processing in biotechnology.

o Watch Video Solution

9. A village health worker was taking a session
with women. She tells the women that has to
be very careful while using oral pills as method
of birth control. Wrong usage can actually
promote conception.

(i) Analyze the statement and compare merits


https://dl.doubtnut.com/l/_sFhIxR43QMW1
https://dl.doubtnut.com/l/_S5f2Fv697kXX

and demerits of using oral pills and surgical
methods of birth control.

(i) Village women were confused as to how a
thin metallic Copper loop can provide
protection against pregnancy. Justify the use

explaining the mode of action of 1UDs.

o Watch Video Solution

10. (i) Suggest any four measures to prevent
sexually transmitted diseases.

(i) The procedure of GIFT involes the transfer


https://dl.doubtnut.com/l/_S5f2Fv697kXX
https://dl.doubtnut.com/l/_mqtHh9s1sRee

of female gamete to the fallopian tube. Can
gametes be transferrecd the the uterus to

achieve the same result ? Explain.

° Watch Video Solution

11. Explain the pattern of inheritance of
haemophilia in humans. Why is the possibility
of a human female becoming a haemophilic is

extremely rare ? Explain.

° Watch Video Solution



https://dl.doubtnut.com/l/_mqtHh9s1sRee
https://dl.doubtnut.com/l/_a5gsx5wmijR2
https://dl.doubtnut.com/l/_69o6oiBVOgnO

12. (i) Why RNA is not a suitable genetic
material in comparison with DNA ? Explain.

(i)  Monocistronic structural genes in
eukaryotes have interrupted coding sequence.

Explain. How are they different in prokaryotes.

° Watch Video Solution



https://dl.doubtnut.com/l/_69o6oiBVOgnO

